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UNIVERSITY OF NORTH BENGAL

B.A. Programme 6th Semester Examination, 2023

DSE1/2-P2-PHYSICAL EDUCATION

Time Allotted: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

The question paper contains paper DSE-2A and DSE-2B
The candidates are required to answer any one from two courses.
Candidates should mention it clearly on the Answer Book.

DSE-2A
PSYCHOLOGY IN PHYSICAL EDUCATION AND SPORTS

1. Answer any five questions from the following: Ix5=5

fafeiie - A5l avia Ted nies
(a) What is the meaning of ‘psyche’?
ieRe FTa oL [ 9
(b) Who is the propounder of the theory of ‘trial and error’ method?
‘@53l G AW’ *imfox e Ored e (3 ¢
(c) What is ‘plateau’ in learning?
i iyl < 9
(d) “Psychology is study of mind” — Who said this?
e TR TR et WA — (F ARG 9
(e) Who said “psychology is the study of human behaviour and human relationship”.
(F AETCZ NI N6 @ MERF T T FoAaeid) [ =1 semifwt 97
(f) What do you mean by learning?
12 FeT0e & @RI 2
(g) Write any one example for positive transfer of learning.
LI PRI FefeTC G To Srizad wis)
(h) Who is the propounder of extrovert personality traits?

@ ey e ke o 2

2. Write short notes on any three of the following: 5x3=15
foaferie @-eF foqfs Racm o ke DIt (=143

(a) Importance of psychology
BN EACER
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(b) Learning curve
e cfog

(c) Types of Emotion
ATFICOT IO

(d) Causes of Stress
AR el

(e) Gestalt theory of learning.
R (195175 Toqm |

3. Answer any two from the following questions: 10x2 =20
famfeiie @-eie 715 elvse Tes s

(a) What do you mean by sports psychology? Discuss the need for knowledge of 2+8
sports psychology in the field of physical education.

GGl AR F0e (3 @RI 2 =N GIol Seafivl S@its erss! SeEibal 341

(b) Define transfer of learning. Discuss the factors affecting transfer of learning. 2+8
TR SeeieTcer kel wie | 4Ie FeeleTH erelRieRial Soviaele Sl 9
(c) What do you mean by personality? Describe the role of physical activities in the 2+8

development of personality.

ey 0o F @RI 2 =N9ES (el T [FeiE Jferes [ 96 ©f 7Rkei@
BN T4

(d) Define stress and anxiety. Discuss the management of stress through physical 2+8
activity and sports.

Ao @R SrRCIF R wie | =N (Faeen=l ¢ (REgea Mo el Ao e

3! IR O AT 1
DSE-2B
KINESIOLOGY AND BIOMECHANICS
1. Answer any five questions from the following: Ix5=5

fersfeife epefe (AT F-FIe #fipls et Teg wiss

(a) Which muscles work to close a knee joint? 1
(I (o efer 215 T <% 917 1% B 2

(b) How many muscles are there in the human body? 1
W FOSe (7 wiCR 2

(c) Which muscles extend or straighten a body part? 1
(I CoRIPTR =R 90 SR*0 @Al Al GTier S 92

(d) Give an example of the movement ‘Circumduction’ in sports field. 1

G0 (G AFFNCIFA AL G0 Srigde WS |
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(e) Which are the categories of the muscles? 1
(ol ARl & = 9

(f) What is the S.I. unit of Force? 1
9B, FASTS AR 9B [ 9

(g) Which muscle is the strongest muscle of human body? 1
SFRCACR, (I, (RN FRACHC =ifeIiel cor 9

(h) ‘Rolling the cricket ball’ is the example of which motion? 1

&0 767 ST qleql — (@I 9ifoF Twizad 9

2. Write short notes on any three from the following: 5x3=15
=TS @ foqfs [ el @143
(a) Mass 5
©d
(b) Movement of Inertia 5
G0] AR
(c) Angular Speed 5
(FIfe wfe
(d) Acceleration 5
RS
(e) Angular Velocity. 5
CHIfels sifocaa
3. Answer any two from the following questions: 10x2 =20
fasferie @-coe 75 @ieem Tex nhes
(a) Define Kinesiology and Biomechanics. Discuss about the planes of human body. 2+2+6

SN & QRIS FLCR] WIS | ewced [Afon ©at A70H SEha) 41

(b) What is Rotation in fundamental movement? Write about the structure of Skeletal 3+7
Muscle.

e SEETREIETC J90 fF 9 TR (oA 90 TR0 N6 41

(c) What is Projectile Motion? Explain about the principles and types of projectile 2+3+5
motion.

2Tl oifS fF 9 2rFol oo Mo ¢ arrrens SicEs F41
(d) What do you mean by force? Discuss about various types of force. 3
T Fei0e [ @R 9 Rifon eisia e @fifets) =0 ST 591

1
+62

=

X
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